CHAPTER 1
) Which of the following arc corrct?

@) A= '—'-I iy (47)" =(a7)" i) (247)
A

}4;0
. 4) all
(1) (i) only ‘(2) (1) and (ii) on]ys (3) (i) and (iii) only @

2. Which of the following are incorrect?
(i) A is non singular and AB=AC = B'= C

(i) A is non singular and BA=CA =B = C

_ L2 20 O\A) J—A
A

=pA™
Gi) A and B are non singular.of same order then (AB)
-1
(iv) A is non singular then A=(A") bt
: and (i
| (1) none \ @ @and G) - (3) (@D)and (iii) (4) (i V)
3. Which of the following is incorrect? Fl‘

(1) adj(adj A) | Al A - [@agaka™|

? . o AT
3) |adi(adji)| =|A]"" @) (adjA)” =adj(A")

4. A isof order n, A=0 then adj(AA)=

L L) g oS
(D 7ag)| @ a7ady G ad@) (4) Aadji(A)

f -1
5. If A isa n,non singular matrix then [ad](A)] is

: 1 P NON 1
i(A™") and = —A (2) =adj(A™) and = —A
(1) #adj(A™) an TA] Al
1 .
S 1 PR 1
(3) #adj(A™") and = — A (4)=adj(A™") and = — A
|A] 1411
6. Consider the statements ¢ = ‘ v

A : A issymmetric = adjA is symmetric
B : adj(AB)=adj(A)-adj(B)
Choose the correct option

(1) Both statements are correct

e |

\ (3) A is correct, B is incorrect |

(2) Neither statements are correct

4) A is mcorrect B is correct

7. A is orthogonal and consider the statements and select the suitable option :
A: A=4T

B : AAT=ATA=7

1
(1)A and B are true \ (2) A only true

(3) B only true

(4) both are false
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4 ¥ v

8, . Which of the following are correct in the case of a rank of a matrix~A of order mzn?
(i) rankof /, is n
(n) A isof order mxn then p(A) < ”li"(m'”)

(1ii) The necessary and sufficient condition to find inverse of an nxn matrix is p(A)=n

(2) (i) and (iii) (3) (ii)And\(iii) only (4) (iii) and (iv)

\ .
9. Inthe case of Cramer's rule which of the following are correct?

(l) A=0 (11)~A% 0
(m). the sy.slcm has unique solution  (iv) the system has infinitely many solutions
(M @and Gv) [ Gi) and Gii) | @) al (4) none
10. If p represents the rank and, A and_# are nxn matrices, then
(1) p(A+B) = p(A)+ p(B) (2) p(AB) = p(A)p(B)
(3) p(A—=B) = p(A)- p(B) \@ p(A+B)<n
CHAPTER 2

1. If J=1=i and neN then
{(1)#“3 =—i } @) i =1 (3) i =-1 @) i =1

2. Which of the statement is incorrect if i = J=1 and z is any complex number?

P

/

(1) iz is obtained by rotating Z in the anti clockwise direction through an angle 2

/4
,EZ) iz is obtained by rotating Z in the clockwise direction throughcan angle 2 l

—

T
(3) =z is obtained by rotating z in the anti clockwise direction through an angle 7.

(4) —iz is obtained by rotating z in the clockwise direction through an angle %
3. Find the correct statements.
(i) Conjugate of the sum of t
(ii) Conjugate of the difference 0
conjugates.
(iii) Conjugate of
conjugates.
(iv) Conjugate of t
conjugates.
(1)all )
4. Identify the incorrect statement.

wo complex numbers i equal to the sum of their conjugates.

the product of two complex numbe

he quotient of two complex num

(i) and (i) only  (3) () and (V) only (4) (i), (iii), (iv) only

) |ef=1 = ~=2 (2) Re() <z
Z

{‘3) 2,21z, [2]z + 2] \!

@ "=zl

923

S anrg RN Candd anvient

f two complex numbers is equal to the difference of their
rs is equal to the product of their

bers is equal to the quotient of their
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‘-l,' ’: .'—.1. the locus ol 2 % | B
je jolming z, and z,\
y the ;f:]i_nfl;"ﬂ'inﬁfl 7%
g of i1 dinmeter

5. I e
‘ (1) the perpendicular hiscctor of T
(2) a line parallel to the line joining

(3) a circle, where and z, are the end point

(4) a line joining z, and z,.
6. Which of the following are correct statemients’

P
(i) ¢ =cosO—isin0 (i) e* =1 |
Syin) - g (cos y —EBIN Y)

(i) " = ¢ (cosx +isin x) (iv) ¢ -
(1) (i) and (iv) only (27 (iii) only (3) (1), (ii) and (111) m

7. Which of the following are correct? '
(i) arg(z, + z,') =arg(z,) +arg(z,)

(i) arg(z —7) = arg(z,)— arg(z;)

\iii) arg(z, 2, =:1rg(zl)+arg(zz)J (iv) ﬂrg(—fl-Jzarg(Z,)—'ﬂfg(h)
22

(3) (iii) and (iv)

(1) (i), (ii) and (iv) (2)all (4) (i) and (ii)
8. Which of the following are incorrect?
(i) (cos@+isind)" = cosmO+isinm@if m is a negative integer

(ii) (sin@+icos@)’ =cosn(§-—6]+isinn(%~0}
(iii) (cos@—isin@)™" =cosml+isinml if m is a negative integer

(iv) (cos@—isin8)" =cosnf—isinnd
(1)none | X (2) (i) and (iV)' (3) (i)and (i1) (4) (iii) and (iv)
roots of unity, identify the correct statements,

9. Inthecase n
(i) the roots are in G.P
(i) sum of the roots is zero

n+l

(iii) Product of the roots 1s (1)
(iv) the roots are lying on a unitcircle

(1) (i) and (i) only (2) (iiYand Giii) only m
- () (i), (ii) and (iii) only

2
10. CI'S?S-IT is equal to

. 2= 27
)] crs(——-) 2) cis(—) (3) ci (§£
r 5 5 il J (@) cis (-3_”)
5
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CHAPTER 3

The statement “A polynomial equation of degree n_hasexactly n roots which are it I
. : > CIther real or

complex™ is
\ (1) Fundamental theorem of Algebra ! (2) Rasional root theorem

(3) Descartes rule (4) Complex conjugate root theorem

2. Identify the correct answer regarding the statements
Statement A If a complex number z, is a root of p(x)=0 then 7, is also a root.
Statement B For a polynomialhequation with real coefficients, complex (imaginary) roots
occur in conjugate pairs
(1) Both are true (2) Both are false
Gy A s false, B is true | (4) A is false, B is true
3. If p+.Jg and —iJg are the roots of a polynomial equation with rational coefficients then the
least possible degree of the equation is i
(1)2 @)1 33 T@4]
4. 1If -5 (where p and g are co-primes), is a root of. a polynomial equation

5.

a x"+da, X" +---+a, =0, then identify the correct option.

Statement A p is a factor of a, and q is a factor of a, .

g is a factor of a, and p isa factorof a,.

(2) both are true
(4) A is incorrect|but’B is correct

Statement B

(1) both are not true

K(B) A is correct but B is falscﬂ
A polynomial p(x) of degree n is.said to be a reciprocal'polynomial if

\'(]) either p(x)= x”p(—]—) or p(x) =—X”P(“I'J X
A\ s sl

1

(2) p(x)= x”p(l) and p(x)= —x"p(—)
x X
; 1 1

(3) either p(x) = p(—J or p(x)= p(——)
By x

(4) p(x)= p(ﬂ and p(x)=p(~%)
Regarding Descarte’s Rule, which of the following are true, where s,,s, are the number of sign
changes in p(x) and p(—x) respectively.

(i) the number of positive zeros > s, (ii) the number of positive zeros < s,

(iii) the number of negative zeros <s, (iv) the total number of zeros = s, + s,

—

(1) (i) and (i) only \ (2) (i) and (iv) (3)all (4) nonc
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CHAPTER 4

. ¢" 1s a periodic function with period () 47
(1) 0 Q) @) 27

. sin x+cosx is
(1) an odd function m

: o r odd
(3) neither odd nor even (4) cithereven O

r

3. If y =asinbx then the amplitude and period are respectively -
2 2 4) b,—
= 2 s 3) |al— a
(l)a.b ()|b||a| | 5]
4. sin(sin™' x) =x if

7T
‘(l)l.\'lSl @) |x]21 3) | x]<1 LT

5. sin”'(sinx) =x if

((l) l-rlS% l (2) |x|<-72£ 3) lx|2-’2£ ) |x]<1

6. cos(cos™ x)=x if

() x|<1 () |x]<1 3) |x|21 (@)x|=0

7. leos™ (cosx) = x if

(1) —§5xs§ () O<x<r \(S)Osxsd @) —1<x<1
8. The amplitude and period of y =atanbx are respectively
T \ T “
= 2) a,— 3) not defined, —— 4 t defined, —
”'“'lbl )a {() |b|‘ (4) not defined, ~
9. The domain of cosec™x function is
M R\LD| @ R\{-11} 3) [—gg] 4) R— {0}
10. The domain of secant function andtsec™ x function are respectively
T
(Mo n’]\{;} and R\(—].]‘)‘ (2) Z\(-1,D and (0 zr]\{—;i}
T
3 [o ﬂ]\{z} and {-1,1) 4) Z\{-1,1) and (0 n]\{i;-}
CHAPTER 5
1.
1:" the point (a,b) satisfies the inequality x2 + ¥y +2gx+ 2fy+c<0 then (a,b)
i é)) llles within the c1rcle\ (2) lie on the circle
I¢ outside the circle (4) can’t be determined
Objective Type Questions - Created 9%
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2, ~The number of tangents to the circle from inside the circle is
(1) 2 real (2) 0 l 3) 2 imnginnry- (4) can’t be determined

3. Which of the following are correct about parabola?

(1) axis of the parabola is axis of symmetry
(i1) vertex is the point of intersection of the axis/andi\the parabola
(11i) latus rectum is a focal chord perpendiculartorthe axis
(iv) length of latus rectum is 4 times the distance between focus and vertex

(2) (i) and (ii) only_\ (3) (iii) and (iv) only (4) (i), (ii) and (iii) only

4. For the equation Ax* + Bxy + Cy*4Dx+ Ey+ F =0 if B2 —4AC=0,

W) ¢ =1 and represents parabolaw (2) e =0 and represents parabola»

(3) e =1 and represents a circle (4) e =0 and represents a circle
5. For the parabola (x—/h)* =—4a(y —k), the equation of the directrix is )

) y=k (2) y=a 3) x=k+a _ E4) y=k+a\

— 2 ) — 2
(x ’h) +(} zk)
a- b

2 2
(1)se= I—b—,<l ) e= 1—~b—>1
a’ ‘ a’
2 2
ﬁa:,/l—z—zd\ @) e::Jl-f——Z—2<l

7. Which of the statements are correct?

6. For the ellipse

=1, a<b

() The sum of the focal distances of any point on the ellipse is equal to length of major axis.

(i1) The difference of the focal distances of any point.on the hyperbola is equal to the length of
1ts transverse axis

(iii) The values of a and b decide the type-of ellipse.
(iv) The values of a and & do not decide the type of the hyperbola
(1) () and (ii) only \(2) all (3) (i) and (iii) only (4) (i) and (iv) only

8. In the general equation Ax’ + Bxy+ Cy? +Dx+Ey+F=0,if A=C=F and B=D=-E=0
then the curve represents '

(1) parabola (2) hyperbola . (3) circle or ellipse Eﬁl) none of the above\

9 M y=mx+cisa tangent to the parabola y* =4ax then the point of contact js
a 2a —a 2a -2 (g —
K (1) (—z,ﬁ) ) [—2,——J 3) (—“; a) @ (—fﬁj
m m m m n m m m

97
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Y’ ),J _y isof theform

ol ——
10 '”"““”” ”’ .lll)/ [,”UIU)I (3] lfll" hy]l( lh ”J ,I)

1
\/ = atm’ =1
(1) cither y = nx +Nam T_ ) oor y=mx-— «/
Wz N por
(2) either y =mx -+ Nam 1t oand y =mx — VA

N e
(3) cither y =mx+~Na' + bt or y=mx

(7 7.
Jatmt + 0 and y s Nan +b

(4) either y =mx -+
11. y=my+c isatangent to the parabola y? =4ax then

(2)c= Q (3) & =a'm* +m’
a
2 2
* 4+ =1 then

@) m=c

12. If y=nw+c is atangent to the cllipse ;2—4 o
: 2 _ 2.2 32
‘—(-I) A =t 4+ 1 \ 2) bt =c? ot (3) e =a21n2+1712 4) cc=am b

2 2

% +y_=] is
b?

13. The point of contact of the tangent y = + ¢ and the clllpsc

a‘m b am_—i2 (_azmzz_ 4[am:b_2J
(1)(——-—0—) (2)(— cJ E)\ 373 (4) p -

CHAPTER 6 J

1. Which one is meaningful?
(1) (@=hb)x(b-2) () ax(s+h) 3y (a-b)=(c-d) h4) (axb‘)-(axjj

2. With usual notation which one is not equal to a - (5 d E‘) 7
o

(1) —ad- C/b m @) ~b-(¢ xa) | @) (¢xa)-b

3. Identify the correct statements.
(i) If three vectors are coplanar thén.their scalar triple product is O,

(ii) If scalar triple product of three vectors is O then they are coplanar

(ii) If  p=xd+yb+ze
E]'=x2c'i+y25+zq&'
F=xd+yb+z7¢, and a,b,¢ are coplanar then P.q.7 are coplanar
(iv) 4,b, and J are coplanar then ( ) (E xd) =0
(1) (i) and (i) only_ (2) all ! (3) (i) and (ii) only (4) (i), (Gi) and (iii) onl!
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S ~The non-paramenr

S dametne
 sition v form ol vector cquation ol a straight line pas¥ink throuy! .
| cCtoris  and parallel to g7 is £ ough a point whose

(1) ik (2) F=ii i 3) (F-it)xa =0 [(4) (F—a)xii =0 |

‘I

Which onc of the ¢ s . - )
['the following is insufficient to find theequation of a straight line?
(1) two points on the line

(2) one point on the line ; e o .
I N the line and direction ratios eLoe parallel line

(3) one point o . . ! : . : .
! on the line and direction raties,of its perpendicular line
|

4) a perpendicular Ii -
( perpendicular line and a parallel lire in Cartesian fm'm.\

6. Which of the fo 1 S 154
follow mng statementas mcorrect?
)

(D if two lines are conlan e s s .
‘ es are coplanar then*their direction ratios must be same!

D TR, B Thorees i3 _
(2) two coplanar lines must lie in a plane

-{ CNe 1NEC a1 - y .
(3) skew lines are neither parallel nor intersecting

- 1 A\ 1 AC e Vi - "
(4) if two lines are parallel or intersecting then they are coplanar

7. The shortest distance helwecn the two skew lines 7 =a + and 7 =b+1i is

(5 -a)- (7 x7)

N ’b- (u>\1)|

LD i @5
3) I(.’;—Ei)-(—ﬁxf’)l @ [(E—ﬁ)-(ﬁxf)l
Iﬁxb, |n|

8. The non-parametric form ol a vector equation passing through a point whose position vector is

@ and parallel to two vectors it and v is
(1) [F=ii. it.7]=0 {(o) [F-a,ii,v] o\(%) [F=3,/17]=0 @) [F-ii,a,v]=0

form of a vector equation passing through two points whose position

9. The non- pmanu.mc
vectors are @ and b and parallel to it is

() [F-ii b-d i]=0 @) [F-a i-a ii]=0
F—ii b—a it|=0 k@ F-d b-a i goj |
§ [) i :l [ :, ' Viow co\\?hq_cﬁr'
10. Which of the following isfare false, in the case of a plane passing through three points whose
i, b c ~
position veclors arc G, b and €7
Gy [F-a b-d é-al=0 i) [F-a a-b 'ﬂa] 0
(iv) [F—ﬁ G- ] 0

Gii) [f-a b-a a-a]:o
(2) (iii) and (iv)

@)l

(1) Giiyand (1)
Objective Type Questions - C;‘cnjpd
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14, With usual notations which of the following are correct?

is related by €os0 = ?' H_.z
lii| 17|

(i) angle between 7 i, = p, and T -7, = P,

. . . n-n
(ii) angle between 7 =d-+fi and the plane 7 .= 1S related by sind =}_l—l_|l
il |a
Iu n—p|
(iii) the distance between a point with position vector and the plane F-ri=p is | I
n

(iv) the angle between 7 =a+ siand 7 = b +1v is related by cos@ = [lfllv_—l
il (v

(1)all ' (2) (i) and:(iii) only (3) (i) and (iv) only (4) (i), (i) and (iv) only
12. Suppose you are given two lines which are lying in the required plane. In how many ways one
can find the equation of the plane? : 4 ‘

1 )2 33 ‘(4) 41
13. What will be happened when finding the distance between two skew lines becomes zero"

((1) they are intersecting lines { (2) they are perpendicular lines ;
(3) parallel lines (4) neither parallel nor intersecting
14. The shortest distance between 7+ &+ siZ and 7 =b +fi is
b—a)xi b—ad)xii b—a xu ey b—a)xii
Iul |u| a b
CHAPTER 7 ’ i
1. If a*+by*=1 and a,x2+b,y2=1 intersect each other~orthogonally then which one 15
incorrect? 3
1 1 1 1 i 1 1 A D1 1 1 1 é
pl_l_t_ 1 @i =m= 3) =+ Rt i
() b aq, ()a a b b aSN&/ b q, (() b, b alw

2. “Let f(x) be continuous on [a,b] and differentiable in (a,b). If f(a)= f(b) then there-

exists atleast one point c €(a,b) such that f'te) =07. This statement is ,
(1) Intermediate value theorem L(Z) Rolles theorem |
(3) Lagrange mean value theorem (4) Taylors theorem !

3. Lagrange mean value theorem becomes Rolles theorem if
IO 7B =r@] @ rOf@ 6 f@=0 @ f(B)=0

4. For the function f(x)=sinx, x€ |:0, %} , Rolles theorem is not applicable, since

(1) not continuous in [0,%] (2) not differentiable in (0’ —725) i
B

m (4) f'(x) does not existat x=0

oo - Poeenmilame - Created 100 ’ . 4

g

Scanned with CamScanner


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

5. Lagrange mean value theorem, constant ¢ for the function y <cosx in [—ﬁ,—] is
2 2
1
(n (2) -1 (3) not exist 4) 0
6. Rolles constant ¢ for the function f(x)=|x], xe[-}is

(Ho (2) 1 3)=l
7. The Maclaurin’s scrics is obtained from the Taylors series by putting

(1) x=a @) x=0 (4) a=n

8. I'H opital’s Rule is not applicable forthe limit tends to
0
D3 (2) 0o 3= @ 1° !

9. “If f(x) is continuous on [a,b] then f has both absolute maximum and absolute minimum in

{ (4) not cxisling‘

[a b]". This statement is

‘ (1) Extreme value Lheoreni\ (2) Intermediate value theorem
(3) Lagrange mean value theorem (4) Taylors theorem

10. For the function f(x) , critical numbers are obtained by solving :
i (1) fi(x)=0 if f'(x) exists; and the values of x for which f'(x) does not exisT\

@) \f(x)=0 if f'(x) does not exist: and the values for which f '(x) exists
“(x) does.not exist

(3) fi(x)=0if f "(x) does not exist; and the values for which f
@) f'(x)=0if f '(x) exists; and the values for which f'(x) exists

11. Let ¢ be a critical number for f(x) then which of the followifig-is#acorrect?
positive through ¢ then \f (x) has a local minimum

hle~then f(x) hasa local maximum

@D f'(x) changeé from negative to

(ii) f'(x) changes from poﬁtive to negative throug

(i) f(c) existsand f "(c) changes sign through ¢ then (¢, f (c)) is a point of inflection.

(v f
(4) (i), (i) and (iv) only

) (1) all (2) (i) and (ii) only-._ (3) (i) only
12. If c is a critical point and f'(c)=0, further f"(c) exists then which is incorrect?

"(c) exists at the point of inflection then f"(c)=0

cAf f"(c) <0

c if f"(c)>0
ion regarding relative maxima

(1) f has arelative maximum at
(2) f has arelative minimum at

(3) f"(c)=0, there is no informat

‘(4) f bas arelative maximum at ¢ if f"(¢) >ﬂ

13. The ventical asymptote of f(x)=—is
x :
4) y=c

(1) x=0 (2) y=0 (3) x=¢
Objective Type Questions - Created
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. i [) = - 'H
{4, The horizontal asymptote of f(x) X :

Fl-; \_() S (2) x=0 (3) x=c

2 "
—-Ox+7 .
X =0x+7 .o

@) y=c

15. The slant asymptote of f(x) = =5 ‘

(1) x4y +11=0 () x+y=11=0 (3PS5 M
16. The vertical asymptotes of f(x) = i':z:lg arc

(1) y=44 (2) does not exist (3) x==%16 i(4) x:i4l
17. The horizontal asymptote of” f (x) = 2.;2:68 is

(1) x=2 (3) y=14 4) y=4
18. The vertical asymptotes of _f(;.c) = xzxil are

(2) y=41 (3) x=0 4) y=0

19. The horizontal asymptote of f(x)= xfz 1 is

) x=1 (2) x=+1 ((3) y=1 @)y ==+1

2
20. “The vertical asymptote of f(x) = ] is

pd
X+
(2) x=1 (3) y=1 @) y=-1

2
21. The slant asymptote of f(x)= il_ is
X+

M y=x+1 @ y=x-1\"" @) x=y1 @) x=y
: 3x
22. The vertical asymptotes of f(x)=
o R
(N x*-2 \(2) does not existl 3) x=+2 4) x=—2
3x

23. The horizontal asymptotes of f(x) = are
Vxt 42

2) A7 (3) y=12 @) y=0

2 _ o
24. The vertical asymptote of f(x)= {;‘—’;1 1
, x+

(1) x=-3 (2) x=3 (3) does not exist (4) x=43
xt—6x-1.
- s
x+3
M, y=x-9 (2) y=x+9 3)x=y @x+y=0

25. The slant asymptote of f(x)=

i
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b, ~The vertical asymptote of f(y) = X 4+6x-4 is

| -6
-9
l (1) x=2 I (2) x=3 (3) y=2 4) y=3

27. The slant asymptote of f(x) = x4 6x -4 is
3x-06

X 8 .
(1) y=s-o (2) \'::i+§ .-:-?:+§ 4 ’=—x-+8
3 & yESha (3rx, 3 +3 (4) y 3

(9]

CHAPTER 8

1. Identify the Incorrect statements

() absolute error = | Actuat-value — app. value | '

(ii) relative error = Absolute error
actual value
(1) percentage error = relative error x100

(iv) absolute error has unit of measurement but relative error and percentage errors are units
free

(1) all (2) (i) and (ii) only  (3) (i), (ii), (iii) only ‘ (4) none \

2. If f(x)>0 forall x and g(x)=log( f(x)) then dg is

™ ] 1 ' 1 |
() —— f'(x)dx \ (2) - 3 dx 4) —dx
\ f(x)f(x) X()x ()f(x) ()x
3. If f and g are differentiable functions, then d(fg) is

K (1) fdg+8dd 2) f-df —g-dg ~ (3) [-df +gdg (4) fdg - gdf .

4. Let A={(x,y)/x,yeR} and f:A>R’, f = f conlyif

l(l) f,,«fu exist and continuous in A\ 2) f,,f, exist and continuous in A

(3) fu f,, existand continuous in A (S5 f exist and continuous in A

5. Let A={(x,y)/x,y€ R} A function f :A— R? is said to be harmonic if

—

2 2 o'u o
M 24,2 gy y)ea @ = -ZEo0v(x,y)ea
~2 2 u o
(3)0",:._6_’1;-0\1(,75,)’)61"1 (4)—l;x—‘2‘=0V(x,y)eA
a'rz a'vz ax ay
6. If w is a function of x and y;and. x-and y are functions of ¢, then which of the following is
undefined?
ow ow 3 g 4 b
1)) B (2)5; ‘ .() Bt ; _ ) dt
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7. 10 w is a function of x and y; and x and y are functions.of s and s then which of th,

following are correct?

(i) ﬂ‘-' is not defined (i1) ’—Il is hotdefined
dt ds |
(i) fﬁ_ is not defined (iv) fj_"ﬁ =.’2‘_‘fﬁ')_{|£7_11’.£1"_ ’
! o Ox Oy ot
(1) all (2) (i) and (iit) only . (3)(iii) & (iv) only (4) (i),(ii) and (iii) only

|
EHAPTER 9 |

1. If f(x) is a continuous function on [a,b] and F(x) is an anti derivative of f(x) then by

second fundamcn}al theorem of Integral Calculus jhf(x)dx =

(1) F(b)-F(a) { (2) F'(b)-F'(a) 3) F(a)—-F(b) 4)0

2. If f(x) is a continuous function on [a, b] and F(x):f’f(u)du, a<x<b then by first

fundamental theorem of integral calculus %F (x)=

y—
(1) F'(x) @ f(x) \ (3) f'(x) — @) f()+c
3. [ flawb—x)dr = | |
W' f@-fB) @ [ fedx (3)0 @[ f(xdx

4 f:" f(x)dx =
(1o | @ 2[" f(x)dx

3 a : L(4) |, 1 o) I:f(Za—xEx_l

5. If f(2a—x) = f(x) then J‘:" rOuflx =

W 2f fde\ @ [ fodx (3)0 @ [, foax

6. If f(2a—x) =—f(x) then j:" f(x)dp=

M 2f fax @) [ fndx . | @ [ f(xdx

T[S =fla+b-x)jx=

M fex-r@ (@0 ' 3) f(B) - f(a) @1

8. J" f(x)
° f(X)+ f(a-x)

ho @ a @) 24
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0, 1117 '"I""' ‘08"
ma =), S xcos v then 1, = (heren 2 2)

n-1
(1) ! T\ 2y =2 s’
n "~ "'_"'_'I ’ J-—
[ m-n _ man ™2 (3) mHn o i ntn st
}
10. If 1, =L-l (1= x)"dx then l,,= (heren 1)
n
‘ ) —.1, \2y " ) ——
L 1" mn-) —f 3 —_—] 4 'I"-
m+n+] man+]" 02! & m-n+1"""" ) =1 '
]. ﬂ { Y ” -1_n o H
1 1c values of '[" e x"dx and J'o e=*x" 'y are respectively
(1) m! and (n-1)! (2) (n+1)! and (n-1!
(3) n! and (n-1)! \ (4) n! and (n+1)!

CHAPTER - 10

1. Consider the statements

A ghé order of a differential equation (D.E) is the highesl orde

r derivative present in the

B. ** In the polynomial form of D.E  the degree of the D.E is the integral powcf of the
highest order derivative.
Identify the correct option

“'(]) both are correct \ (2) both are false
(3) A is true, B is false (4) A is false, Bis\rue
2. Formation of a differential cquation is
(1) eliminating arbitrary constants from the given~Telationship by minimum number of‘
differentiations ' A

om the given relationship by minimum number of differentiations

(2) eliminating constants fr
ants from~the given relationship by maximum number of

(3) eliminating arbitrary const
differentiations

(4) eliminating constants from fhé given relationship

3. Consider the statements :

A: The general solution
arbitrary constanlts as

of a differential equation is the solution which contains as many

the order of the D.E

B: Giving particular values to the arbitrary constants in the general solution of the D.E is the

particular solution.
(2) both are incorrect

(4) A is incorrect, B is correct
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4. Anequation of the form £, () g, (»)dv+ S()g, ()dy = 0 is qayi¥d
(2) homogencous

(1) linear differential equation
(3) linear differential equation of first order ‘(4) variable SCPﬂfﬂb]C!

5. A differential equation is said to be homogencous if

{ dy dy dy
‘\(I)%= l—'\ -—*L’(H ») (3)(—-8(\)’) (4)&::3(1—)')

6. A first order lincar differential equation is.of the form

(1 {—,‘-+ Py=Q .where P and Q dre-functions of y

(-;) ‘l‘ +p‘ Q. where P and“Q are functions of y

3) 1—"‘+ Px =0, where P and Q are functions of y
[(AN

dy : Y )
«) :E.;.py =, where P and Q are functions of x

d-
(or) &£ + Px =0, where P and Q are functions of y

. i dy
7. The integrating factor of aL_} + Py =0 is (P and Q are functions of x)

) X
a el™ @ ™ 3) 4 ‘ Nl ‘

8. The integrating factor of ;—ix—+ Px+Q is (P and Q are functions'ef~y)
)7
@ ej'm 3) eIQd_\' @) efm;

Pdv
(1 EJ
9. Assume that a population (x) grows or decays at-a rate directly proportional to the amount of

.Q, Jdx
population present at that time L.C. - = kx , thep

(1) k<0 if it is a growth problem

(2) k>0 if it is a decay problem
(3) k<0 if it is a decay problem.and k>0 ifitisa growth problem

4) k=0
10. The Newtons law of cooling (7 —
surrounding medium) says

temperature of a body at any time ¢, T, temperature of the

dT
(D dfa (T-T,) () —.—=T—Tm always
!

4) ._-uk(T T.)

‘(3) -Z—T = k(T -T,),k is constant of proponionalilyJ
t
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. , . .y
1T The onder and degree of the differential equation P X+ y+Stare
dy

(1 0.0 (2) 0.1 (3) 1,0

1
. e C(dty dyY .
12, The order and degree of the differential equation P +4| — | +6y=5cos3x arc

AN dx

(H12.7 (3) 3,4 4 7,12

» 2 2
T ' C o dty dy 2 d’y
13 The order and degree of the differential equation T 2 +3(— = x"log il ke
(A y

dx

\ (1 2. not Llcﬁncd\ (2) 3.2 (3) 2.3 (4) 2,2

'—_ X

y dy Y |2

14, The order and degree of the differential equation 3(51—%)=[4 +[—)‘J } 7S
dx dx
ay2.2 (2)2.2 @) 2,3 43,2
-y 2 _) =< 2 ’

15. The order and degree of the differcntial equation dy+(xy—cos x)dx =0 are

(2)1,0 (3) 0,0 (90,1

16. The order and degree of the differential equation —;Q +xy =cotx are
X

(H 1,0 . ‘(2) 1,1\ (3) 0,1 4) 0,0
2

1L N3 24, .
17. The order and degree of the differential equation d—a —31—%— + ﬂ+4 =0 are
: dx dx” dx

(1) 2,2 (2) 3,3 (32,3 §(4) 3,2!

2! : 3 2 2
18. The order and degree of the differential equation (d )) +(fli] =xsin[£1—y} are

Yy

dx” dx dx*
‘ (1) 2, not dcﬁnedj (2) 2,2 (3) 2,1 @) 1,2
19. The order and degree of the differential equation dy _4ﬂ ~7x=0 are
g . dx dx
(1 2.1 (2) 1,1 §(3) 1,2 E 4) 2,2

20. The order and degree of the differential equation y(ﬂ = are

1 ]z : 3
=)
X
‘(l) 1,4 S (2) 4,1 (313 4) 3,1
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\2 5
21. The order and degree of the differential equation x”{:i{H(——J ] =0 are

(1 2,1 (3) 1,2 4) L1

2 3 p
22. The order and degree of the differential equation (%J = l+(5{2) are

g (1) 2,6 i (2) 6,2 (3) 2,3 4 2,4

2 , d’y d
3. The order and degree of the/differentjal equation —z = xy+c'os[ﬁ) are

1) 2,1 2 1.2 (@2 o deﬁan @ L1

2
24. The order and degree of the differential equation %+5%+ j ydx=Xx" are

(1) 3,2 ) 1,2 3) 2,1 ‘ @ 31|

dy
25. The order and degree of the differential equation x:en{"’) are

(2 0,1 (3) 1,0 (4) 2,1

26, Radium decays at a rate proportional to the amount @ present, The corresponding differential
equation is (k is the constant of proportionality)

dQ dg do dQ
—=k 2) —= 3) —=-k 4) —==k
(”dl ()dt Q ()d’ k)dr 0
27. The population P of a city increases at a rate proportional to the product of population and to
the difference between 5,00,000 and the population. The corresponding differential equation is

(k is the constant of proportionality) :

dP _ N ap _ -p) |3 d—szPS - P
(1)I_P(50000 P) (2 7 = k(50000 )E) " (500000 P) |(4) > kP

28. For a certain substance, the rate of change of vapor pressure P with respect to temperature T is
proportional to the vapor préssure and inversely proportional to the square of the temperature.
The corresponding differential’equation is (k is the constant of proportionality) (

dP P dpP P dP
mE.L (2) =k () =k @ L _rp
dr T? ' dr T ar T dr
29. A saving amount (x) pays 8% interest per year, compounded continuously. In addition, the
income from another investment is credited to the amount continuously at the rate of 400 pef

. Then — =
year €n 57

- 8 8 1
W —— —_— 4m
(4 1001+400 (2) ]jjx (3) 8x+400 “4) 7 x+
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30).) Assumce th ' : ;
30 at a spherical rain drop evaporates at a rate proportional'te its surface arca. The rate

of change of the radius ( 7) of the rain drop ﬂ =
dt

(k is the constant of Proportionality and k > 0).
(1) kr @) & @)k () ~r
CHAPTER - N
1. A random variable X is a function from

QRS (3)Ss—>N @ N—>S

2. X:S—R issaid to be discrete random.variable if
r) range of X is countablik (2) range of X is uncountable
(3)range of X is N (4) range of X is R

3. PIX=x1k=12,-n is called a probability mass function if
\il) PIX =x120 and ZP[X =x]=1\(2) P[X=x]>0 and ZP[X=xk]=l
R k

3) PIX =x]=0 and Y P[X =x,]=1 (4) P[X =x,]20 and D P[X =x]=0
k k

4. Let X be a discrete random variable and taking the values x,,x,++x, with p.m.f P[X =x]
The cumulative distribution function F(x) is defined as
El) PIX lej (2)1-PIX<x] (3) PIX <]
5. ‘Which of the following are true in the case of c.d.f F(x)? (X is a discrete random vaﬁable)
(i) xlﬂi)r_an(x) =0 and li—g:F(x) =1

(4) 1= P[X <x]

(i) 0 F(x)<1
(i) Plx,<X <k]=F(x)-F(x) (V) PIX>x]=1=PX<x]=1-F(x)
(1) (i) and (iv) only (2) (ii),(iii){(iv) ‘only

(3) (i), (ii), (iii) only

6. Let X be a continuous random variable. The funcnon f(x) issaidtobea pd.f if

(1) f(x)>0 and j f(x)dx=0 X(Z) £(x)=0 and L f(x)dx ﬂ
@ F(x)20and [ f(x)dx=0

@) f(x)>0 and [ f(x)dr=1
7. For a continuous random variable, which of the following is/are incorrect?
(i) PX =x]=0and Pla<X<bl=F(b)-F(a)
(i) P[X =x)=1and Pla<X <b]=F(b)—F(a)
(iii) P[X =x]=0 and Pla<X <b]= P[a<X <b]
(iv) Pla<X <b]—R[_a5X<b] Pla<X <b] and P[X =x]=0
“l (2) (i) only l (3) (i) and (i) only  (4) (iv) only

(1) (ii) and (iii) only
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8. With usun| notations, which of the following are correet?

() Var(X)= E(X*) -[EX)]
(i1) Var(aX +b) = a‘Vur(X)
(it)) E(ax +h)=aE(X)+b

(iv) E(X)=.fj S(X)dx if X is continuous

(1) all Q) (i), (i), Giii) only[ (3) (@), (i), (iv) only - (4) (ii), (iii), (iv) only
9. If X is a Bernoulli’s random vatiable which follows Bernoulli’s distribution with parameter p
then
() u=po=pg (2) p=pgo=p @) u=pgo=q \@4) u=p,c* =pq[ .
10. If x¥ ~ B(n, p) then
@,u—np o® =np(l- p)\ (2) =ng, oc=np(1- p)
(3) H=np, o =np(l- p) (4) u=npq O =npq
CHAPTER 12
1. Which of the following is not a binary operationon R ? \
M + @ - (3) + @ x

2. The operation '-' is binary on

) N ) 0\(0) (3) R\(0) ()

3. The operation '+' is binary on

(1) R\{0} l 2 C QYR @z

4. The additive inverse do not exists for some clements in the set

(D) R @ -1<x<2 \ (3) Z 4)Q

5. The multiplicative inverse exists for each\élement i 1n the set

M -25x<2 )2 @C

6. The identity element under addition exists in

(1) N (2) Cx{0) (3) (0 «) [ s<xs3|
7. The properties closure, associative, identity, inverse and commutative under addition satisfy in
the set

(Hr \ 2) N 3 (L,-10) @ o\(

8. The fourth roots of unity under multiplication s
(1) closure only

atisfies the properties

(2) closure and associative only

(3) closure, associative and identity
Objectlve Type Questions - Created
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9.

10.

Which one of the following is correct?

(1 31+, 12]1=15] (2) [0}, 112) = 0]
(3) [4)%,[3]=[12] \@ (517, (41= 121

Which of the following is not truc?

(1) A Boolean matrix is a real matrix whose entrics ar¢ either O or

1 .
(2) The product [0 (])] [(]) :)] is a.BBpolcan matrix

(3) All identity matrices I, aréJBoolean matrices
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Chapter —1

(:)n.l\'n. ! 3 4 5 6 7 8 9 \ mJ

] Cat PR
Key C)) (1 (2) (1) 4) 3) C)) (1) (2) \ @)

Chapter~2

9

I 2 3 4 5 6 7 8 9 10
(1) (2) 1 3 1 4) 3 @ (3) (1)
(1) (‘) 1) | ¢
Chapter —3
X
1 2 3 4 5 6
(1) 3 ) 3 (1) a
Chapter-4
Qn.No. |, M 2 3 4 5 6 7 8 9 10
; 2
kyrfd | @ ||| 0|3 @ @ o | ®
Chapter -5
QnNo. | 1 2 3 4 5 6 7 8 9 10
Key (1) 3) (D ey @ (3 (2) C)) 1) 1)
Qn.No. 11 12 13
Key (1)_J (1) (3)
Chapter —6
QnNo. | 1 2 3 4 5 6 7 8 9 10
@and
Key o CoHlo|low|lo| o]0 | &9 @‘V’
QnNo. | 11 12 13 14
Key (D 4) 0y (1)
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Chapter -7

Qn.No. ! 2 3 4 5 6 7 8 9 o |
Key (4) (2) (1) (3) (4) (4) (3) (4) M | m J
Qn.No. | 11 12 13 14 15 16 17 18 19 20 |
Key (D (4) w m | @ | @ | @ | o (3) —(l_r
Qn.No. | 21 22 23 24 25 26 27
Key @ o o] oo o] ey
Chapter — 8 B
Qn.No. 1 2 3 4 5 6 7
Key 4) ey @ [..@ (1 (3) (1)
Chapter —9
Qn.No. 1 2 3 4 5 6 7 8 9 10
Key (1) (2) @5— (4) (1) 3 (2) (3) (1) (1)
Qn.No. | 11
Key 3)
Chapter -10
Qn.No 1 2 3 4 5 6 7 8 9 10 K
Key (1) (1) (1) (4) (1) @) ) 1) (3) (3)
QnNo. | 11 12 13 14 15 16 17 | 18 19 | 20
Key @) (2) (1 (2) (1) @@ 4) (1) (3) (r
QnNo. | 21 22 23 24 25 26 27 28 29 30
Key 2 (1) (3) 4) (1) 4) ()] 3 (1) (:)ji
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— ,
an.Ntx 1 o T Shapran — ||
| 3 4 5 6 7 2 : o
| Key (1) (1) \
= "y (D (4) 2 ) @) (@) \ )
:

Qu.No. ] 7 3

E—

Key 3) (4) 1)
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